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& {z K # ouT IN TOTAL | HDCP NET
B B WE 8 44 | 44 | 9.6 |34.4
R MR = 42 | 42 | 7.2 |34.8
3 i BN IEfE 48 | 48 |13.2|34.8
4 fi K RSE 41 41 | 6 | 35
5 fi Lieg fliE 43 43 | 7.2 |35.8
6 fir g BIR 41 41 | 4.8 | 36.2
7 i FEH 55— 41 41 | 4.8 | 36.2
8 fir 7vH &R 47 47 110.8|36.2
9 fir ToA B 46 46 | 9.6 | 36.4
10 fi FiE KK 52 | 52 |15.6(36.4
15 {i TR EA 48 48 [10.8|37.2
20 fi % =X 46 | 46 | 8.4 |37.6
25 {if A ~vy3 51 | 51 [13.2|37.8
30 fi KA &L 46 46 | 7.2 | 38.8
35 fiI 3 [E 1EBA 60 | 60 [20.4|39.6
40 fi A EF S 57 | 57 [16.8/40.2
» i St 5 48 48 | 7.2 [40.8
50 fif KB f158 55 55 [13.2(41.8
51 fif s e 61 61 |19.2|41.8
B - B AKX Fid 76 | 76 [28.8|47.2
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